

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMV 2861Z

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BOOTLID	REPLACED	1,443.70	1,295.90
1	BOOTLID LOGO	REPLACED	97.80	97.80
1	BOOTLID EMBLEM CAMRY	REPLACED	77.90	77.90
1	BOOTLID EMBLEM HYBRID	REPLACED	106.60	106.60
1	BOOTLID OUTER GARNISH	REPLACED	370.50	330.95
2	BOOTLID REFLECTOR @\$321.70	REPLACED	643.40	643.40
1	BOOTLID WEATHERSTRIP	REPLACED	210.86	210.86
1	BOOTLID INNER LOCK	REPLACED	305.90	305.90
1	BOOTLID LOCK KEYLESS SENSOR	REPLACED	172.10	172.10
1	BOOTLID SOLENOID SWITCH	REPLACED	187.60	187.60
1	BOOTLID INNER TRIM	REPLACED	320.80	320.80
2	BOOTLID HINGES @\$271.90	REPLACED	543.80	543.80
2	TAILLAMP @\$605.70	N/S NOT NECESSARY / O/S REPLACED	1,211.40	605.70
2	TAILLAMP LOWER BRACKET @\$85.50	N/S NOT NECESSARY / O/S REPLACED	171.00	85.50
2	TAILLAMP BASE PANEL @\$227.80	N/S NOT NECESSARY / O/S REPLACED	455.60	227.80
1	REAR BUMPER	REPLACED	1,079.20	1,079.20
2	REAR BUMPER SIDE RETAINER @\$170.50	N/S NOT NECESSARY / O/S REPLACED	341.00	170.50
2	REAR BUMPER SIDE GRILLE @\$105.30	N/S NOT NECESSARY / O/S REPLACED	210.60	105.30
2	REAR BUMPER LOWER GARNISH @\$139.80	REPLACED	279.60	279.60
1	REAR BUMPER TOW COVER	REPLACED	102.00	102.00
1	REAR BUMPER REINFORCEMENT	REPLACED	470.90	470.90
4	REAR PARK ASSIST SENSOR @\$309.80	REPLACED	1,239.20	1,239.20
4	REAR PARK ASSIST SENSOR O-RING @\$30.70	REPLACED	122.80	122.80
4	REAR PARK ASSIST SENSOR HOLDER @\$28.60	REPLACED	114.40	114.40

Report Ref No. CS3/CTI20011654/T1tf3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

1 REAR LOWER SPLASH SHIELD	Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
REAR END PANEL TOP GARNISH REPLACED 210.55 210.55 REAR END PANEL INNER TRIM REPLACED 194.60 194.60 SPARE TYRE PANEL REPLACED 194.60 194.60 SPARE TYRE PANEL REPLACED 527.60 527.60 SPARE TYRE PANEL TOP BOARD REPLACED 527.60 527.60 SPARE TYRE EXTENSION PANEL O/S REPLACED 376.85 376.85 REAR CHASSIS FRAME O/S REPLACED 376.85 376.85 REAR FENDER O/S REPLACED 1,027.70 1,027.70 REAR FENDER INNER SHIELD O/S REPLACED 210.90 210.90 REAR FENDER INNER SHIELD O/S REPLACED 65.00 65.00 REAR FENDER INNER TRIM O/S REPLACED 447.80 447.80 REAR FENDER INNER TRIM COVER O/S REPLACED 82.40 82.40 REAR FENDER INNER PANEL O/S REPLACED 82.40 82.40 REAR WHEEL HOUSING PANEL O/S REPLACED 89.00 - LABOUR REAR WHEEL HOUSING PANEL O/S REPLACED 218.70 218.70 REAR SHOCK ABSORBER O/S REPLACED 272.00 272.00 REAR LOWER ARM O/S REPLACED 486.80 486.80 REAR KNUCKLE ARM BEARING O/S REPLACED 801.50 801.50 REAR KOUCKLE ARM BEARING O/S REPLACED 801.50 801.50 REAR DOOR O/S REPLACED 280.70 280.70 REAR DOOR BLACK TAPE O/S REPLACED 105.40 105.40 LESS 25% DISCOUNT REPLACED 24.607.41 13,853.41 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED 2,159.50 500.00	1	REAR LOWER SPLASH SHIELD	REPLACED	314.20	314.20
REAR END PANEL INNER TRIM	1	REAR END PANEL	REPLACED	890.75	677.50
SPARE TYRE PANEL	1	REAR END PANEL TOP GARNISH	REPLACED	210.55	210.55
SPARE TYRE PANEL TOP BOARD REPLACED 527.60 527.60 SPARE TYRE EXTENSION PANEL O/S REPLACED 376.85 376.85 REAR CHASSIS FRAME O/S REPLACED 975.80 - REAR FENDER INNER SHIELD O/S REPLACED 1,027.70 1,027.70 REAR FENDER INNER SHIELD O/S REPLACED 210.90 210.90 REAR FENDER INNER TRIM O/S REPLACED 65.00 65.00 REAR FENDER INNER TRIM O/S REPLACED 447.80 447.80 REAR FENDER INNER TRIM COVER O/S REPLACED 82.40 82.40 REAR FENDER INNER PANEL O/S REPLACED 82.40 82.40 REAR WHEEL HOUSING PANEL O/S REPAIRED SEE 796.40 - LABOUR 796.40 - REAR WINDSCREEN MOULDING REPLACED 218.70 218.70 REAR SHOCK ABSORBER O/S REPLACED 272.00 272.00 REAR LOWER ARM O/S REPLACED 466.80 486.80 REAR KNUCKLE ARM O/S REPLACED 801.50 801.50 REAR DOOR O/S REPLACED 1,798.60 1,798.60 REAR DOOR O/S REPLACED 260.70 280.70 REAR DOOR INNER LOCK O/S REPLACED 667.40 667.40 REAR DOOR BLACK TAPE O/S REPLACED 667.40 667.40 REAR DOOR BLACK TAPE O/S REPLACED 667.40 667.40 REAR DOOR BLACK TAPE O/S REPLACED 105.40 105.40 LESS 25% DISCOUNT - 4,617.80	1	REAR END PANEL INNER TRIM	REPLACED	194.60	194.60
1 SPARE TYRE EXTENSION PANEL O/S REPLACED 376.85 376.85 376.85 REAR CHASSIS FRAME O/S REPAIRED SEE LABOUR REAR FENDER O/S REPLACED 1,027.70 1	1	SPARE TYRE PANEL		1,439.60	-
1 REAR CHASSIS FRAME O/S REPAIRED SEE LABOUR 975.80 - 1 REAR FENDER O/S REPLACED 1,027.70 1,027.70 1 REAR FENDER INNER SHIELD O/S REPLACED 210.90 210.90 1 REAR FENDER INNER SHIELD O/S REPLACED 65.00 65.00 1 REAR FENDER INNER TRIM O/S REPLACED 447.80 447.80 1 REAR FENDER INNER TRIM COVER O/S REPLACED 82.40 82.40 1 REAR FENDER INNER PANEL O/S REPLACED 796.40 - 1 REAR WHEEL HOUSING PANEL O/S REPAIRED SEE LABOUR 796.40 - 1 REAR WINDSCREEN MOULDING REPLACED 218.70 218.70 1 REAR SHOCK ABSORBER O/S REPLACED 272.00 272.00 1 REAR LOWER ARM O/S REPLACED 486.80 486.80 1 REAR KNUCKLE ARM BEARING O/S REPLACED 808.50 808.50 1 REAR DOOR O/S REPLACED 1,798.60 1,798.60 1 REAR DOOR WEATHERSTRIP O/S REPLACED 280.70 280.70 1 REAR DOOR BLACK TAPE O/S REPLACED 667.40 667.40 1 REAR DOOR BLACK TAPE O/S REPLACED 1	1	SPARE TYRE PANEL TOP BOARD	REPLACED	527.60	527.60
REAR FENDER O/S REPLACED 1,027.70 1,027.70 REAR FENDER INNER SHIELD O/S REPLACED 210.90 210.90 REAR FENDER AIR VENT O/S REPLACED 65.00 65.00 REAR FENDER INNER TRIM O/S REPLACED 447.80 447.80 REAR FENDER INNER TRIM COVER O/S REPLACED 82.40 82.40 REAR FENDER INNER PANEL O/S REPLACED 82.40 82.40 REAR FENDER INNER PANEL O/S REPAIRED SEE 796.40 - LABOUR 789.00 - REAR WHEEL HOUSING PANEL O/S REPLACED 218.70 218.70 REAR WINDSCREEN MOULDING REPLACED 272.00 272.00 REAR SHOCK ABSORBER O/S REPLACED 272.00 272.00 REAR LOWER ARM O/S REPLACED 486.80 486.80 REAR KNUCKLE ARM O/S REPLACED 808.50 808.50 REAR KNUCKLE ARM BEARING O/S REPLACED 801.50 801.50 REAR DOOR O/S REPLACED 1,798.60 1,798.60 REAR DOOR WEATHERSTRIP O/S REPLACED 280.70 280.70 REAR DOOR BLACK TAPE O/S REPLACED 105.40 105.40 LESS 25% DISCOUNT - 4.617.80 24,067.41 13,853.41 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED 2,159.50 500.00	1	SPARE TYRE EXTENSION PANEL O/S	REPLACED	376.85	376.85
1 REAR FENDER INNER SHIELD O/S REPLACED 210.90 210.90 1 REAR FENDER AIR VENT O/S REPLACED 65.00 65.00 1 REAR FENDER INNER TRIM O/S REPLACED 447.80 447.80 1 REAR FENDER INNER TRIM COVER O/S REPLACED 82.40 82.40 1 REAR FENDER INNER PANEL O/S REPAIRED SEE LABOUR 796.40 - 1 REAR WHEEL HOUSING PANEL O/S REPAIRED SEE LABOUR 789.00 - 1 REAR WHOSCREEN MOULDING REPLACED 218.70 218.70 1 REAR SHOCK ABSORBER O/S REPLACED 272.00 272.00 1 REAR LOWER ARM O/S REPLACED 486.80 486.80 1 REAR KNUCKLE ARM BEARING O/S REPLACED 801.50 801.50 1 REAR DOOR O/S REPLACED 1,798.60 1,798.60 1 REAR DOOR WEATHERSTRIP O/S REPLACED 280.70 280.70 1 REAR DOOR BLACK TAPE O/S REPLACED 667.40 667.40 1 REAR DOOR BLACK TAPE O/S REPLACED 105.40 105.40 <td>1</td> <td>REAR CHASSIS FRAME O/S</td> <td>_</td> <td>975.80</td> <td>-</td>	1	REAR CHASSIS FRAME O/S	_	975.80	-
1 REAR FENDER AIR VENT O/S REPLACED 65.00 65.00 1 REAR FENDER INNER TRIM O/S REPLACED 447.80 447.80 1 REAR FENDER INNER TRIM COVER O/S REPLACED 82.40 82.40 1 REAR FENDER INNER PANEL O/S REPAIRED SEE LABOUR 796.40 - 1 REAR WHEEL HOUSING PANEL O/S REPAIRED SEE LABOUR 789.00 - 1 REAR WINDSCREEN MOULDING REPLACED 218.70 218.70 1 REAR SHOCK ABSORBER O/S REPLACED 272.00 272.00 1 REAR LOWER ARM O/S REPLACED 486.80 486.80 1 REAR KNUCKLE ARM O/S REPLACED 808.50 808.50 1 REAR KNUCKLE ARM BEARING O/S REPLACED 801.50 801.50 1 REAR DOOR O/S REPLACED 1,798.60 1,798.60 1 REAR DOOR WEATHERSTRIP O/S REPLACED 280.70 280.70 1 REAR DOOR BLACK TAPE O/S REPLACED 667.40 667.40 1 LESS 25% DISCOUNT REPLACED 105.40 105.40 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED 2,159.50 500.00	1	REAR FENDER O/S	REPLACED	1,027.70	1,027.70
1 REAR FENDER INNER TRIM O/S REPLACED 447.80 447.80 1 REAR FENDER INNER TRIM COVER O/S REPLACED 82.40 82.40 1 REAR FENDER INNER PANEL O/S REPAIRED SEE LABOUR 796.40 - 1 REAR WHEEL HOUSING PANEL O/S REPAIRED SEE LABOUR 789.00 - 1 REAR WINDSCREEN MOULDING REPLACED 218.70 218.70 1 REAR SHOCK ABSORBER O/S REPLACED 272.00 272.00 1 REAR LOWER ARM O/S REPLACED 486.80 486.80 1 REAR KNUCKLE ARM O/S REPLACED 808.50 808.50 1 REAR KNUCKLE ARM BEARING O/S REPLACED 801.50 801.50 1 REAR DOOR O/S REPLACED 1,798.60 1,798.60 2 REAR DOOR WEATHERSTRIP O/S REPLACED 280.70 280.70 3 REAR DOOR INNER LOCK O/S REPLACED 667.40 667.40 4 667.40 667.40 667.40 667.40 667.40 4 667.41 13,853.41 13,853.41	1	REAR FENDER INNER SHIELD O/S	REPLACED	210.90	210.90
1 REAR FENDER INNER TRIM COVER O/S REPLACED 82.40 82.40 1 REAR FENDER INNER PANEL O/S REPAIRED SEE LABOUR 796.40 - 1 REAR WHEEL HOUSING PANEL O/S REPAIRED SEE LABOUR 789.00 - 1 REAR WINDSCREEN MOULDING REPLACED 218.70 218.70 1 REAR SHOCK ABSORBER O/S REPLACED 272.00 272.00 1 REAR LOWER ARM O/S REPLACED 486.80 486.80 1 REAR KNUCKLE ARM O/S REPLACED 808.50 808.50 1 REAR KNUCKLE ARM BEARING O/S REPLACED 801.50 801.50 1 REAR DOOR O/S REPLACED 1,798.60 1,798.60 1 REAR DOOR WEATHERSTRIP O/S REPLACED 280.70 280.70 1 REAR DOOR INNER LOCK O/S REPLACED 667.40 667.40 1 REAR DOOR BLACK TAPE O/S REPLACED 105.40 105.40 1 LESS 25% DISCOUNT - 4,617.80 24,067.41 13,853.41 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED 2,159.50 500.00 <td>1</td> <td>REAR FENDER AIR VENT O/S</td> <td>REPLACED</td> <td>65.00</td> <td>65.00</td>	1	REAR FENDER AIR VENT O/S	REPLACED	65.00	65.00
1 REAR FENDER INNER PANEL O/S REPAIRED SEE LABOUR 796.40 - 1 REAR WHEEL HOUSING PANEL O/S REPAIRED SEE LABOUR 789.00 - 1 REAR WINDSCREEN MOULDING REPLACED 218.70 218.70 1 REAR SHOCK ABSORBER O/S REPLACED 272.00 272.00 1 REAR LOWER ARM O/S REPLACED 486.80 486.80 1 REAR KNUCKLE ARM O/S REPLACED 808.50 808.50 1 REAR KNUCKLE ARM BEARING O/S REPLACED 801.50 801.50 1 REAR DOOR O/S REPLACED 1,798.60 1,798.60 1 REAR DOOR WEATHERSTRIP O/S REPLACED 280.70 280.70 1 REAR DOOR INNER LOCK O/S REPLACED 667.40 667.40 1 REAR DOOR BLACK TAPE O/S REPLACED 105.40 105.40 1 LESS 25% DISCOUNT -4,617.80 24,067.41 13,853.41 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED 2,159.50 500.00	1	REAR FENDER INNER TRIM O/S	REPLACED	447.80	447.80
REAR WHEEL HOUSING PANEL O/S REPLACED T89.00 T89.00 T80.00 T80.	1	REAR FENDER INNER TRIM COVER O/S	REPLACED	82.40	82.40
LABOUR REAR WINDSCREEN MOULDING REPLACED 218.70 218.70 218.70 218.70 218.70 272.00	1	REAR FENDER INNER PANEL O/S		796.40	-
1 REAR SHOCK ABSORBER O/S REPLACED 272.00 272.00 1 REAR LOWER ARM O/S REPLACED 486.80 486.80 1 REAR KNUCKLE ARM O/S REPLACED 808.50 808.50 1 REAR KNUCKLE ARM BEARING O/S REPLACED 801.50 801.50 1 REAR DOOR O/S REPLACED 1,798.60 1,798.60 1 REAR DOOR WEATHERSTRIP O/S REPLACED 280.70 280.70 1 REAR DOOR INNER LOCK O/S REPLACED 667.40 667.40 1 REAR DOOR BLACK TAPE O/S REPLACED 105.40 105.40 LESS 25% DISCOUNT REPLACED 24,067.41 13,853.41 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED 2,159.50 500.00	1	REAR WHEEL HOUSING PANEL O/S	_	789.00	-
1 REAR LOWER ARM O/S REAR KNUCKLE ARM O/S REPLACED REAR KNUCKLE ARM BEARING O/S REPLACED REAR KNUCKLE ARM BEARING O/S REPLACED REAR DOOR O/S REPLACED REAR DOOR WEATHERSTRIP O/S REPLACED REAR DOOR INNER LOCK O/S REPLACED REAR DOOR BLACK TAPE O/S REPLACED R	1	REAR WINDSCREEN MOULDING	REPLACED	218.70	218.70
1 REAR KNUCKLE ARM O/S REAR KNUCKLE ARM BEARING O/S REAR KNUCKLE ARM BEARING O/S REAR DOOR O/S REAR DOOR O/S REAR DOOR WEATHERSTRIP O/S REAR DOOR INNER LOCK O/S REPLACED REAR DOOR BLACK TAPE O/S LESS 25% DISCOUNT 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED	1	REAR SHOCK ABSORBER O/S	REPLACED	272.00	272.00
1 REAR KNUCKLE ARM BEARING O/S 1 REAR DOOR O/S 1 REAR DOOR WEATHERSTRIP O/S 1 REAR DOOR WEATHERSTRIP O/S 1 REAR DOOR INNER LOCK O/S 1 REAR DOOR BLACK TAPE O/S 1 REAR DOOR BLACK TAPE O/S 1 REAR DOOR BLACK TAPE O/S 1 REPLACED 2 REPLACED 2 REPLACED 2 REPLACED 3 REPLACED 3 REPLACED 4 REPLACED 2 REPLACED 3 REPLACED 3 REPLACED 3 REPLACED 4 REPLACED 5 REPLA	1	REAR LOWER ARM O/S	REPLACED	486.80	486.80
1 REAR DOOR O/S REPLACED 1,798.60 1,798.60 1 REAR DOOR WEATHERSTRIP O/S REPLACED 280.70 280.70 1 REAR DOOR INNER LOCK O/S REPLACED 667.40 667.40 1 REAR DOOR BLACK TAPE O/S REPLACED 105.40 105.40 LESS 25% DISCOUNT -4,617.80 24,067.41 13,853.41 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED 2,159.50 500.00	1	REAR KNUCKLE ARM O/S	REPLACED	808.50	808.50
1 REAR DOOR WEATHERSTRIP O/S REAR DOOR INNER LOCK O/S REAR DOOR BLACK TAPE O/S LESS 25% DISCOUNT 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED	1	REAR KNUCKLE ARM BEARING O/S	REPLACED	801.50	801.50
1 REAR DOOR INNER LOCK O/S REAR DOOR BLACK TAPE O/S LESS 25% DISCOUNT 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED REPLACED 667.40 667.40 105.40 105.40 -4,617.80 24,067.41 13,853.41	1	REAR DOOR O/S	REPLACED	1,798.60	1,798.60
1 REAR DOOR BLACK TAPE O/S LESS 25% DISCOUNT REPLACED 105.40 -4,617.80 24,067.41 13,853.41 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED 2,159.50 500.00	1	REAR DOOR WEATHERSTRIP O/S	REPLACED	280.70	280.70
LESS 25% DISCOUNT4,617.80 24,067.41 13,853.41 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED 2,159.50 500.00	1	REAR DOOR INNER LOCK O/S	REPLACED	667.40	667.40
24,067.41 13,853.41 1 BATTERY (20HR 55Ah 345A) (SN) REPLACED 2,159.50 500.00	1	REAR DOOR BLACK TAPE O/S	REPLACED	105.40	105.40
1 BATTERY (20HR 55Ah 345A) (SN) REPLACED 2,159.50 500.00		LESS 25% DISCOUNT		-	-4,617.80
, , , , , ,				24,067.41	13,853.41
2,159.50 500.00	1	BATTERY (20HR 55Ah 345A) (SN)	REPLACED	2,159.50	500.00
				2,159.50	500.00

Report Ref No. CS3/CTI20011654/T1tf3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	SPECIAL NETT ITEMS			
1	SUNDRIES (SN)	REPLACED	60.00	30.00
1	SET BOOTLID OUTER GARNISH CLIPS (SN)	REPLACED	40.00	20.00
2	SET BOOTLID REFLECTOR CLIPS @\$30.00 (SN)	REPLACED	60.00	40.00
2	BOOTLID REFLECTOR SEAL @\$30.00 (SN)	REPLACED	60.00	40.00
1	SET BOOTLID INNER TRIM CLIPS (SN)	REPLACED	40.00	20.00
1	BOOTLID SEALANT (SN)	REPLACED	80.00	60.00
2	SET TAILLAMP CLIPS @\$30.00 (SN)	REPLACED	60.00	60.00
2	TAILLAMP SEAL @\$30.00 (SN)	REPLACED	60.00	60.00
1	SET REAR BUMPER CLIPS (SN)	REPLACED	80.00	30.00
1	SET REAR LOWER SPLASH SHIELD CLIPS (SN)	REPLACED	60.00	30.00
1	SET REAR END PANEL TOP GARNISH CLIPS (SN)	REPLACED	40.00	20.00
1	REAR END PANEL SEALANT (SN)	REPLACED	80.00	60.00
2	SET REAR FENDER INNER SHIELD CLIPS @\$30.00 (SN)	REPLACED	60.00	30.00
2	SET REAR FENDER INNER TRIM CLIP @\$45.00 (SN)	REPLACED	90.00	45.00
1	REAR WINDSCREEN PRIMER AND CLEANER (SN)	REPLACED	100.00	60.00
1	REAR WINDSCREEN INNER SEAL (SN)	REPLACED	80.00	40.00
1	REAR WINDSCREEN SEALANT (SN)	REPLACED	80.00	40.00
1	SET REAR DOOR TRIMBOARD CLIPS O/S (SN)	REPLACED	45.00	30.00
1	REAR DOOR SEALANT O/S (SN)	REPLACED	100.00	60.00
			1,275.00	775.00
	<u>LABOUR</u>			
	TO DISMANTLE / RENEW THE ACCIDENT DAMAGED PORTION. TO PANEL BEATING, RESHAPE, STRAIGHTEN, ORIENTATE AND ALIGN REPAIR / REPLACEMENT PARTS. INCLUSIVE OF THE REPAIR OF SPARE TYRE PANEL, REAR CHASSIS FRAME O/S, REAR FENDER INNER PANEL O/S AND REAR WHEEL HOUSING PANEL O/S.		2,800.00	1,750.00
	TO DISCONNECT WIRE HARNESS OF ELECTRICAL COMPONENT TO FACILITATE REPAIRS, RECONNECT AND CHECK FUNCTIONS.		80.00	40.00
	TO REMOVE AND REFIT INTERIOR UOHOLSTERY TO FACILITATE THE REPAIR.		200.00	80.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO REMOVE AND REFIT BOOTLID COMPONENT TO REPLACE BOOTLID, CHECK AND RE-ADJUST THE CLOSE GAP AND ALIGNMENT AND WATER SEEPAGE.		100.00	60.00
	TO REMOVE AND REFIT REAR WINDSCREEN TO FACILITATE THE REPAIR.		150.00	120.00
	TO REMOVE AND REFIT FUEL TANK ASSY TO FACILITATE REPAIR.	NOT NECESSARY	280.00	-
	TO REMOVE AND REFIT O/S REAR DOOR COMPONENT TO REPLACE O/S REAR DOOR, CHECK AND ALIGNMENT.		100.00	60.00
	TO REMOVE AND REFIT O/S REAR UNDERCARRIAGE FOR REPLACEMENT OF PARTS.		300.00	150.00
	TO CONDUCT COMPUTERIZE FULL WHEEL ALIGNMENT.		120.00	80.00
	TO ALIGN ON REAR CHASSIS FRAME AND TO CONDUCT CHASSIS ALIGNMENT ON CAR-O-LINER.		350.00	250.00
	TO MEASURE, DRILL HOLES ON REPLACED REAR BUMPER, POSITION AND INSTALL REVERSE SENSOR, CHECK AND TEST ON THE DISTANCE AND FUNCTIONS.		80.00	30.00
	TO APPLY UNDERCOATING ON THE ACCIDENT REPAIR AND REPLACED PANEL FOR RUST PROTECTION.		200.00	100.00
	SUPPLY SPRAY PAINT MATERIAL AND NECESSARY ITEMS TO RESPRAY BOOTLID, REAR BUMPER, REAR END PANEL, SPARE TYRE PANEL, EXTENSION PANEL, REAR CHASSIS FRANE, REAR FENDER, INNER PANEL, REAR WHEEL HOUSING PANEL, REAR DOOR AND OTHER AFFECTED AREA / PANEL.		2,000.00	1,600.00
			6,760.00	4,320.00
	GRAND TOTAL		34,261.91	19,448.41

RECOMMENDED COST OF LUMP SUM REPAIRS		15,550.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS3/CTI20011654/T1tf3e2-1

MOHAMAD TAUFIKH

M.MATAI, AMSAE-A

ANG BRYAN TANI

Automotive Assessor / Investigator

Automotive Assessor

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.